H £ 0l & AF & S

20238 =0ila eI S

SA: =XQIPHMY
HE: A=K JIBIES (A= /FHLHESXR)

Al A

Rl A=K XIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SXI2 M2t 580,598, 101 540,598,403 39,999,698
= 359,199,656
[ 10,570,238
Jl 432,069
Al 210,39, 138
MBS JIBEE (MBI SXI/FAAHSK) 16,251,922 17,620,820 N\2,368,898
= 297,781
[ 5,562,000
Al 9,392,141
ARl= X K& 15,251,922 17,620,820 A2,368,898
= 297,781
= 5,562,000
Al 9,392,141
NS AR SXIAIE K& 1,431,261 1,315,366 115,8%
201 er2 3| 38,160 38,160 0
01 AtR2te|HI 38,160 38,160 0
2=l 10,300
oAtEIS Xl RSN EEIH M=
6,900,000 6,900
OXNGASIES AXE HEAN UM
2,400,000& 2,400
oARISX EEE MAE 1,000,000& 1,000
O=g=g 21,620
OAEBEARS S BH4Y
5,880,000 5,880
o MRS HA+E 7,000,000& 7,000
oABISXIAIE Bltl==E 8,740,000& 8,740
O=gtl 6,240,000 6,240
202 04| 3,140 3,140
01 =LHO LI 3,140 3,140
OZLH0iH] 1,460,000& 1,460
o220l 1,680,000& 1,680
203 HR=4AY] 42,700 42,700
03 A=A PR FA| 42,700 42,700
O=A8s 243 2=
18,600,000& 18,600
OMISETAE &5 252
7,420,000 7,420
OE=0tS=Nsd g2=d
8,420,000& 8,420
O zdE82E g4 8,260,000& 8,260
204 MRoeAH| 16,200 16,200
03 SEH =3I 16,200 16,200
o=l 50,0002 x27 E* 122 16,200




2A:

=XI01 P}

MM MZEX RS (A EX/FLHSKH)
=Rl ARSI X (SH9 H2)
= - L=
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
301 LPBNZ 26,000 26,000 0
02 MBI EEAGS(HUAS, XLTHEA) 26,000 0 26,000
OASIEXAIE 4K 12 2l
26,000,000 26,000
307 gI2tol ™ 671,761 676,366 24,605
02 QIZHAAAIHE X 430,000 430,000 0
O=XNS&ASE 430,000,000 430,000
10 AIEISXAIEHE2ZHIEX 154,761 151,116 3,645
OAMZI=XAIES 2F 59,761,000& 59,761
OMZXNESSE33 2F
95,000,000 95,000
11 AL =SXAMSEES 87,000 80,250 6,750
OAM2=XAIE SAL HRSSSAALS
10,000,000& 10,000
OAMZI=XAIE SAR ASIEEZ XA
10,0003 *2,000 20,000
OR= ABISXM HEHE XA
3,000,000& 3,000
OAISISEXIAIE SAL HAASEALY
49,000,000& 49,000
OS2z HaXt S XIJALSE
5,000,000& 5,000
308 AHXIHM SO & 633,300 512,800 120,500
01 AXSHHBLERS 633,300 512,800 120,500
OAZIEXAN Bx=1SH| NSNS
56,0002 *2,050% *50% 57,400
OAISISXIAIE SALR LEE SKIELE
X& 575,900,000 575,900
NSNS BHE AN 29 4835 NA 7,500 7,500 0
= 5,000
Al 2,500
308 AHXIHMSOI & 7,500 7,500 0
= 5,000
Al 2,500
01 IXSHHBLAEERS 7,500 7,500 0
OXGA ST H2s AHSA
7,500,000& 7,500
= 5,000
Al 2,500
A2I=X dgolE X2 915,379 915,379 0
308 AEXIHMSOIH 915,379 915,379
01 IXSHHBLNEXS 915,379 915,379
OAMZXNNHG ISR 22|
915,379,000& 915,379
ASISXIAIE SALAF UM X& 283,947 252,248 36,69




2A:

E M

=XI01 P}

NS DIBFES (MBI =X/ FH A HSKI )

=Rl ARSI X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 202,264
Al 86,683
307 lztol & 288,947 0 288,947
= 202,264
Al 86,683
1 ARISAMSEX 288,947 0 288,947
OUMels eyl & =248l
288,947,000 288,947
= 202,264
Al 86,683
ABISXIAIE SALRE CHHIQIZAXI& (AIH]) 231,146 259,500 N\28,354
307 212+01& 231,146 0 231,146
11 AMEISXAEEES 231,146 0 231,146
OUxelel el2dl & 23|
231,146,000 231,146
SEAteI=EX2 X 4,375,321 4,230,278 145,043
308 AXIHMSOIA 4,375,321 4,223,948 161,373
01 MRHHBAEES 4,375,321 4,223,948 151,373
OSeAta=A2 28 4,375,321
o 21244| 3,800,797,000& 3,800,797
o&tel2tl 280,440,000 280,440
0 BAA =& 294,084,000 294,084
A2 =XEels 29 474,376 459,204 15,172
307 el2tol & 474,376 459,204 15,172
10 Al SXAAEEHE 22X 443,376 428,204 15,172
OAtI=sAIE2s 24 443,376
oAtBISXIE e 28 228,155,000 228,155
oARISXIZEHE 29
168,301,000 168,301
oA SEHEEHH 29
46,920,000& 46,920
1 MISXAEEE 31,000 31,000 0
OAtI=XIE 22l At 31,000
ARISXSHZZ I BALS
10,000,000 10,000
oARISXIS & A 10,000,000& 10,000
ARSI A S AU 2 4,000,000& 4,000
oAtelSXIEclEE X 7,000,000 7,000
KANSTHEE MaMEIA EXAIS 6,798,278 7,622,143 A\823,865
= 5,562,000
Al 1,236,278
308 XXM SOIA 6,798,278 7,622,143 823,865
s 5,562,000
Al 1,236,278




M =XelRE MY
B ARSI=T JIBRA (ABISXI/HSHETR)
ol ARSI X2 (cho):
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXH B2 LS 6,502,125 7,342,143 840,018
OXNYIES A2l MHIA SXIALY 6,502,125
o NIGAL2I MBI A SXAY
5,398,340,000& 5,398,340
= 4,445,692
Al 952,648
0 JtARHEEZ XIEAS
935,000,000 935,000
= 770,000
Al 165,000
o ZElISAY NFAL
168,785,000 168,785
= 139,000
Al 29,785
1 S| 2S0 U B 4HASAIE 296,153 280,000 16,153
OXIS AL MHIAXI R EE 2
296, 153,000 296,153
= 207,308
Al 88,845
HEMIMEIAAIEH 2 129,310 127,200 2,110
= 90,517
Al 38,793
307 gl2to| & 129,310 127,200 2,110
= 90,517
Al 38,793
02 QB AANEE R 129,310 0 129,310
OFEHAISAMHIAAHE 2T
129,310,000 129,310
= 90,517
Al 38,793
ASIIEMY X 263,552 197,507 66,045
307 elztol & 231,472 165,427 66,045
10 Al SXAAEEHE2EHI2x 231,472 165,427 66,045
Oty 24 151,722,000& 151,722
ZC0 29 79,750,000& 79,750
308 AFAIEHMSOIE 32,080 32,080
01 AXEH B EES 32,080 32,080
OJI=%&y3 A 32,080,000 32,080
ABISRRE KR (22 HEAY) 336,852 312,49% 24,357
301 EtE NS 336,852 312,49% 24,357
10 AR =22 336,852 312,495 24,357
OMIERQP QI2AHI (25 MEALY)
336,852,000 336,852
ol 23 ST(AR=X/ES - IIELNHE) 10,311,850 14,540,446 N\4,228,5%6




2A:

3 ol (MEIEX/ER - IHELAHA)
el QI e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 8,531,350
Al 1,780,500
EESES L 10,311,850 14,540,446 N\4,228,596
= 8,531,350
Al 1,780,500
elpyz =& 64,200 234,200 A170,000
201 er2 3| 12,200 134,200 122,000
01 AtR2telHl 12,200 134,200 122,000
Odgt+==H| 3,000
o272 & J|IE8AI HEH S M%H
3,000,000& 3,000
O=g+y 9,200
QI PHUAAS| EASY
100,000& x23F +43] 9,200
307 @120l & 52,000 52,000
02 QItEHAEE X 52,000 52,000
ool & JIgeAt 27,000,000& 27,000
O - =5 EI2AME 25,000,000 25,000
S4HEH KA 277,350 2,627,350 /2,350,000
201 er23| 2,420 125,420 123,000
01 At2teltl 2,420 125,420 A123,000
Odgt=ZH| 500
ONEWS MLINHAMEIE 2= M
500,000 500
O=gtl 1,920,000& 1,920
202 04| 2,730 2,730
01 SLHoIH 2,730 2,730
OZLH0AHI 1,330,000 1,330
o220l 1,400,000& 1,400
307 gl2to| & 45,600 87,000 A41,400
02 QA AAEE X 45,600 87,000 241,400
OYMF CHIHIIE 23l A
45,600,000 45,600
308 AHXIHMS0IA 226,600 2,404,200 A2,177,600
01 RSN EES 226,600 2,404,200 A2,177,600
OFuets E4XA= K&
56,600,000 56,600
O&4tIE=S A& 170,000
oRMAE EMRES KA
30,000,000& 30,000
oSMAH EMREZS KA
100,000,000 100,000
oMMAIA Ole EMtAIE S XNIEH
40,000,000& 40,000




SA: =XQIPHMY
M ol EHel ZF(AS=X/2S - IELNA)

el QI e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEZ0He! S4HHIE X3 23,800 28,900 25,100
= 19,600
Al 4,200
308 AHXIEMSOIE 23,800 28,900 25,100
= 19,600
Al 4,200
01 HASHHBAEEXS 23,800 28,900 25,100
ON gl EatdlE XIa
23,800,000& 23,800
= 19,600
Al 4,200
ARorgolEad N2 9,907,000 11,610,500 A1,703,500
= 8,492,000
Al 1,415,000
308 AXIHSOIA 9,907,000 11,610,500 A1,703,500
= 8,492,000
Al 1,415,000
01 HAHHBSEEXS 9,907,000 11,610,500 1,703,500
oxggolEd A 9,907,000,000& 9,907,000
= 8,492,000
Al 1,415,000
NEMDSAR] CHH =2IQIAE AN XI& 39,500 39,49 4
= 19,750
Al 19,750
307 glztol & 39,500 39,49 4
= 19,750
Al 19,750
02 2IZHBYAIHE & 39,500 39,49% 4
OMEL DB AR Ul =2 AAIHAANY X
el 39,500,000 39,500
= 19,750
Al 19,750
SN (ASEX/EF - IHELHE) 279,430,360 252,620,650 26,809,710
= 166,274,668
Al 113,155,692
Oelold 28 & 282 A& 216,737,790 247,949,802 28,787,988
= 165,437,848
Al 111,299,942
gdRot2=EE K& 92,939,067 99,627,434 6,688,367
= 75,356,000
Al 17,583,067
308 AFAIEHMSOIH 92,939,067 99,627,434 6,688,367
= 75,356,000




2A:
T ZH -
o e

=aak

SXQI2 Yt
SN (AIEXN/E=F - IS
ool =28 € 258 N3

RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 17,583,067
01 X HHNEAEXS 92,939,067 99,627,434 6,688,367
O0-2H 252 XI# 92,939,067,000& 92,939,067
= 75,356,000
Al 17,583,067
FelE 222 X2 47,026,617 43,543,164 3,483,453
308 XtXIEMSO0IE 47,026,617 43,543, 164 3,483,453
01 RSN EES 47,026,617 43,543,164 3,483,453
O35M B2 XA 47,026,617,000& 47,026,617
Eedsg A2 5,981,923 17,285,167 211,303,244
= 4,850,208
Al 1,131,715
308 AHAIEMSOIE 5,981,923 17,285,167 11,303,244
= 4,850,208
Al 1,131,715
01 X SHHEAEES 5,981,923 17,285,167 11,303,244
OoJged=s=g XN 5,981,923,000& 5,981,923
= 4,850,208
Al 1,131,715
2220 (o) X 54,017,533 12,404,867 41,612,666
= 43,798,000
Al 10,219,533
308 AHXIEMSOIE 54,017,533 12,404,867 41,612,666
= 43,798,000
Al 10,219,533
0l MXSHBALEES 54,017,533 12,404,867 41,612,666
OS230{(Z0t4+Z) X2
54,017,533,000& 54,017,533
= 43,798,000
Al 10,219,533
AIHIESHHIA HISX 846,528 871,365 N24,837
= 557,000
Al 289,528
307 212t01™ 44,112 41,460 2,652
= 22,056
Al 22,056
11 ARRIS XA E X 44,112 41,460 2,652
OAIZNES 22D 28
44,112,000 44,112
= 22,056
Al 22,056
308 XtXIEMSO0IE 802,416 829,905 N27,489
= 534,944




SN SX0ITE M
HH: PEXA(MIRN/LS - IS
Col 02101 29 L 282 XY

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 267,472
01 HASHHBSEEXS 802,416 829,905 A27,489
OAIZEHES M2 XId
802,416,000 802,416
= 534,944
Al 267,472
Zoiots 258 A& 21,060 21,060 0
308 XXM SOIA 21,060 21,060
01 XN BELES 21,060 21,060
OYots B25= 21,060,000& 21,060
228 I XA 2,223,720 2,295,745 NT2,025
308 AXIHS0IA 2,223,720 2,295,745 NT2,025
01 HAHHBSEEXS 2,223,720 2,295,745 AT72,025
O0elold 258 A XA
2,223,720,000& 2,223,720
olglolsy =&K& 616,000 677,602 /61,602
= 420,000
Al 196,000
308 XXM SOIA 616,000 677,602 261,602
= 420,000
Al 196,000
01 HRESHH B EES 616,000 677,602 /61,602
O w—Hl K& 352,000,000 352,000
= 240,000
Al 112,000
Oxtzg2gdl X& 249,333,000 249,333
= 170,000
Al 79,333
OsHE 4N galojelold N
14,667,000 14,667
= 10,000
Al 4,667
SRWAF, CHHILAF XI& 17,425,467 0 17,425,467
= 11,881,000
Al 5,544,467
308 AFAIEHMSOIE 17,425,467 0 17,425,467
= 11,881,000
Al 5,544,467
01 AXEH B2 LS 17,425,467 0 17,425,467
SXWAL K& 14,481,867,000& 14,481,867
= 9,874,000
Al 4,607,867
OUHM AL XI& 2,943,600,000& 2,943,600




SA: =XQIPH MY

ZM: BRIA(MESX/2S - I=L0I)
el Of2I0lE 29 2 282 N (SHol: )
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
= 2,007,000
Al 936,600
SN HRML X2 9,389,739 25,491,605 216,131,866
= 6,381,640
Al 2,978,099
308 XXIHMSOIA 9,359,739 25,491,605 16,131,866
= 6,381,640
Al 2,978,099
01 AXSHHELEELS 9,389,739 25,491,605 16,131,866
OYY WA RIAHI 8,313,067,000& 8,313,067
= 5,668,000
Al 2,645,067
OuABXZHXEHl K&
250,272,000 250,272
= 170,640
Al 79,632
Os& 2SDA SE2242 N
796,400,000 796,400
= 543,000
Al 253,400
SFuAE X2 4,650,564 4,598,614 51,950
308 AHXIEMSOIH 4,650,564 4,598,614 51,950
01 HXESHH B E2ES 4,650,564 4,598,614 51,950
b= JMYNSSSE®) Pl 2,232,000,000& 2,232,000
OHMHOIEZ2012101& XHEIIAF 124
108,594,000 108,594
OZ OOt 202018 &HE M=
66,000,000 66,000
O24A12t =SS 00l 21Ay|
11,520,000 11,520
OFla=E=s NE = 477,000,000 477,000
O0~2AI8H & ZHoHorer 23 XI&dl
805,200,000& 805,200
OBsuA 25+ 176,400,000 176,400
OESUWAI XEE SAEE
444,000,000 444,000
OFSTAY Asoly SEAg X
329,850,000 329,850
SRWAR oIAH| X 32,551,200 32,054,734 496,466
= 22,194,000
Al 10,357,200
308 AtXIEMSOIH 32,551,200 32,054,734 496,466
= 22,194,000
Al 10,357,200
01 MRHHBAEES 32,551,200 32,054,734 496,466




2A:

PSp

EX|0|__r17<-|7‘:|-|—)|,
SXR(AEI=X/ES - HEU0IA)

o

=aak Oﬁ'OIé! 29 ¢ 282 N (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEFEEICETISNET
32,551,200,000& 32,551,200
= 22,194,000
Al 10,357,200
ooy HESH 25X 141,174 137,745 3,429
308 AtAIEMSOIE 141,174 137,745 3,429
01 HAHHBSEXRS 141,174 137,745 3,429
O0elold =M 2R
141,174,000 141,174
Oelold o - edl XA 156,400 168,500 A12,100
308 XXM SOIH 156,400 168,500 A12,100
01 XN BSELES 186,400 168,500 212,100
O0elold & - eyl X2
156,400,000 156,400
Oelold &Hul=edl XA 337,500 365,000 A27,500
308 XM SOIE 337,500 365,000 A27,500
01 X SHHBAEXS 337,500 365,000 A27,500
Ooleglold ZHl+g4l X3
337,500,000 337,500
oiglold EZoHadl K& 110,000 110,000 0
308 XXM SOIA 110,000 110,000
01 XN B2 LS 110,000 110,000
oulzt- Jrdoielold 2tZoHsdl X
110,000,000& 110,000
33001 XIH(2EH HEALY) 5,365,4%6 5,504,800 139,304
308 AHAIEMSOIE 5,365,4% 5,504,800 139,304
01 HAHHBSEEXS 5,365,49% 5,504,800 139,304
O3SE0e0IE 2 (25HH MEALY)
5,112,096,000& 5,112,096
OZ33€0a0ld Xcl& et A&
185,400,000 185,400
OSSE0el0ld atZIHet|
68,000,000& 68,000
24N12F O1elolE X1 161,952 201,000 A\39,048
308 AHAIEHMSOIE 161,952 201,000 A\39,048
01 HAHHBSEXRS 161,952 201,000 A\39,048
O24A12+ Ot0l== 0ieloly X1
161,952,000 161,952
Oelold 28 243 X2 2,805,850 2,499,400 306,450
308 XXM SOIA 2,805,850 2,499,400 306,450
01 XN B2 LS 2,805,850 2,499,400 306,450
O0ieloly e =gl A&
933,850,000 933,850
OGISINES FAIEl X1
1,872,000,000& 1,872,000




2A:

=X101 P D}

M ST (AMSX/ES] - IHELHY)
el ExolHe = (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
2F0oet A= 2,692,570 4,670,848 1,978,278
= 836,820
Al 1,855,750
2FEH N 131,890 181,890 250,000
201 fer23| 14,650 14,650 0
01 AtR2t2|HI 14,650 14,650 0
Odgt+=H| 9,100
0EEREA HEH MH
2,900,000& 2,900
0 BSHUBAL B4 M
100, 0003 *2H 200
0SSEOEe0E SHEME
100,000 *20H 2,000
0EEAME EE=E HH 4,000,000 4,000
O=g+y 3,150
0 BRI BHLY
70,0002 15233 3,150
@=i:] 2,400,000& 2,400
202 04| 3,240 3,240
01 2LHA b 3,240 3,240
OZU 048l 1,620,000& 1,620
o220l 1,620,000& 1,620
203 HR=H] 1,300 1,300
03 A=A FAIH| 1,300 1,300
OEFuAE 2t83 1,300,000 1,300
307 gl2to| & 112,700 162,700 50,000
1 AMEISXAIEEXS 112,700 162,700 /50,000
OEFZF2 ML 70,000,000& 70,000
OR2u=s 10,000,000 10,000
OO0lelold Otssttl MY WS
10,000,000& 10,000
O=0tEE MSAE 7,200,000& 7,200
OfREN0E AR
15,500,000& 15,500
OlelolE &= 766,230 1,975,000 1,208,770
= 510,820
Al 255,410
403 AXIEHMSAH=0lH 766,230 1,975,000 1,208,770
= 510,820
Al 255,410
01 A= 2L 766,230 1,975,000 1,208,770
O=3E80e0ld &= 766,230,000 766,230
= 510,820
Al 255,410




2A:

X XH -
o=

=701 =}
SSNV(AESX/ES - HEL0A)

el ExolHe = (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O{2l01E =S (S0 S&st) 165,000 836,288 A681,288
= 155,000
403 AXIEHHSAH=201H 155,000 836,288 A\681,288
= 155,000
01 XA 22 % 155,000 185,000 0
022 SHORI0IT A=
155,000,000 185,000
= 165,000
oglolE JIse 175,500 204,000 28,500
= 117,000
Al 58,500
403 AXIEHMSA=Z0l1d 175,500 204,000 /28,500
= 117,000
Al 58,500
01 XM A =2 E 175,500 204,000 /28,500
OOEol&d N - B & FHIFY
175,500,000 175,500
= 117,000
Al 58,500
02lold @ Eus 70,000 83,600 213,600
= 35,000
Al 35,000
307 gl2to| & 70,000 83,600 13,600
= 35,000
Al 35,000
11 ARRIS XA E X 70,000 83,600 A13,600
OEFuAE B4R 70,000,000 70,000
= 35,000
Al 35,000
SOISE X2 HE 22 (22 HEArd) 1,226,950 544,070 682,880
307 lztol & 1,076,200 393,320 682,880
05 2IMRIE S 1,076,200 393,320 682,880
OSOISERNAUE 2 (26 MEtAe)
1,076,200,000& 1,076,200
308 AtXIEHMSOIE 150,750 150,750
01 HAHHBAEXS 150,750 150,750
OFZ HEAFNA (A HEAY)
150,750,000 150,750
FI2LIHEE 29 38,000 46,000 28,000
= 19,000
Al 19,000
307 elztol & 38,000 46,000 28,000
= 19,000
Al 19,000




2A:

=X101 P D}

M ST (AMSX/ES] - IHELHY)
ol 2selaet 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 38,000 46,000 8,000
ORZRZLIHEH 28 38,000,000& 38,000
= 19,000
Al 19,000
2FuUAA HgHae AA 129,000 130,000 1,000
201 er= 3| 8,000 8,000 0
03 A= 8,000 8,000 0
OPSEM 0z g 93s
8,000,000& 8,000
307 glztol & 121,000 122,000 21,000
11 AMEISXAEEES 121,000 122,000 21,000
O0lelold M3 g WF & H+X3
35,000,000 35,000
OFSESHY SSUH01E WsAH
15,000,000 15,000
OO0I2l01E EIHM XA
11,000,000 11,000
OHior SE=E=AH 60,000,000 60,000
OlS=X ST(MEIEX/HAANEXR) 95,998,473 97,378,982 A1,420,509
= 62,183,949
= 3,937,202
7l 432,069
Al 29,405,253
Ots=XAEIA X 95,958,473 97,378,982 A1,420,509
= 62,183,949
[ 3,937,202
Jl 432,069
Al 29,405,253
OLSS XA 100,200 100,200 0
201 er23| 9,920 9,920
01 AtR2t2|HI 9,920 9,920
Odgt==H| 4,000
o0lElole RSN BN M
2,000,000 2,000
oltsdcl 82= M=% 2,000,000& 2,000
O=23+¢ 4,000
o OSSN S AAE
2,000,000 2,000
olOtsSTc NS HAz & &t|
2,000,000& 2,000
O=gH| 1,920,000& 1,920
202 04dl 3,280 3,280
01 2L AL 3,280 3,280
Oz2tLHNbI 1,630,000& 1,630




2A:

X101 PH D}

B Ol==X SA(ABI=X/FHAHST)
&e: OtssXAEIA XIJ (Cre|: ®M2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O&2I0d| 1,650,000& 1,650
203 YRF=&IH| 1,000 1,000
03 A F=AIHRFAIH| 1,000 1,000
O0ts=A 23 2= 2tE 3|
1,000,000& 1,000
307 2I2+01™ 86,000 86,000
02 QIZHBAAIEER 86,000 86,000
OOelole At 86,000,000 86,000
RESots1SE 29 1,010,441 872,559 137,882
= 404,176
Al 606,265
308 AHXIHMSOIH 1,010,441 872,559 137,882
= 404,176
Al 606,265
01 AIXISHNHBAEES 1,010,441 872,559 137,882
OREsSOSOEE 23 1,010,441
o 214l 976,745,000& 976,745
= 390,698
Al 586,047
oZe|24gH| 33,696,000 33,6%
= 13,478
Al 20,218
LESOISIEE 29 (AlHI) 124,095 97,005 27,090
308 AXISHMSOIA 124,095 97,005 27,090
01 XIXISHHBAE LS 124,09 97,005 27,090
ORES0=1EE AN 37,260
oXMRME=LY
130,000 *27 B = 122 x50% 21,060
o AtAY 40,000 *27H 128 x50% 6,480
o Q2224 60,0002 *27H » 123 x50% 9,720
OAld0ts=4 86,835,000& 86,835
OtSMEAlE HOt 2,580 2,580
301 LetEHZ 2,580 2,580
11 HALAHIXIE S 330 330
On &l 110,000 *3H 330
14 J|EI2 A3 2,250 0 2,250
OEIt==8 = 100, 0002 *3H *6IH & 1,800
OMNEuE =5 150,000 »3Z 450
Ots=XIAIE K& 4,924,39% 4,955,751 A31,355
308 AXISHMSO0IA 4,924,39% 4,955,751 A31,355
01 AXESHHZAEEZ 4,924,39% 4,955,751 A31,355
OSKE=d 29 4,594,980




2A:

X XH -
o=

=701 =}
OISR B (MBS X /HAHSKI)

cel: Ol S=XIABIA X (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o QI24H| 4,069,099,000& 4,069,099
o=2gH| 205,531,000& 205,531
OANESALA RS 6,000,000 6,000
oAlE0tES KNI 314,350,000 314,350
OEsES0ts NHEXAI12 29 329,416
0 IA4H| 291,848,000& 291,848
o 24| 18,000,000 18,000
0 OtsSXIE A 16,568,000 16,568
oF YOS AP ERHI
300,000 %10 3,000
2SES0ts NSXAASI2t 12 74,699 0 74,699
= 59,759
Al 14,940
307 el2to| & 74,699 0 74,699
= 59,759
Al 14,940
10 AlRISXAZEE 22X 74,699 0 74,699
2SEF0Is NSANESI2 212H|
74,699,000 74,699
= 59,759
Al 14,940
2SE20ts NSXAASI12 At 95,878 0 95,878
= 76,702
Al 19,176
307 el2to| & 95,878 0 9,878
= 76,702
Al 19,176
11 AMISXAIEEXE 95,878 0 95,878
2SEI0IS NSAHEI2 At
95,878,000 95,878
= 76,702
Al 19,176
OlSSXIAE JIsEZAE 63,000 63,000 0
= 31,500
Al 31,500
403 MR HHMSAHE01H 63,000 63,000 0
= 31,500
Al 31,500
01 MXIHHA 22 63,000 63,000 0
OO0ts=RAIE JIseEZd 63,000,000& 63,000
= 31,500
Al 31,500
CIEtHSSAtE el2idl X1 1,555,500 1,088,883 466,617




2A:
X XH -
o e

=aak

=701 =}
OISR B (MBS X /HAHSKI)
OIS=XIMHIA X

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,037,000
Al 518,500
308 XtXIEMSO0IH 1,555,500 1,088,883 466,617
= 1,037,000
Al 518,500
01 XN BSELES 1,555,500 1,088,883 466,617
OUENESAY bl K&
1,565,500,000& 1,555,500
[ 1,037,000
Al 518,500
CHENESsSdE Algl X 45,240 37,440 7,800
308 AFAIEHMSOIE 45,240 37,440 7,800
01 AXEH B2 LS 45,240 37,440 7,800
OUENESHE SAHA =&
(260,000 287K A+ 122 50%) +(260, 0002 +30H
242 x50%) 45,240
CIEtNEsSAtE 22dl X2 261,000 72,900 188,100
= 174,000
Al 87,000
308 AHAIEMSOIE 261,000 72,900 188,100
[ 174,000
Al 87,000
01 HAHHBHEERS 261,000 72,900 188,100
otsn=samg 228l X
261,000,000 261,000
= 174,000
Al 87,000
CENES=SAIE £X18 X3 57,500 522,500 465,000
= 45,000
Al 12,500
403 MR HHMSAHE01H 57,500 522,500 A\465,000
[ 45,000
Al 12,500
01 AXISHHA=2 22X 57,500 522,500 465,000
Ootsn=sHe £Xi8l A 57,500
oc|2EEH] 37,500,000 * 11 2 37,500
= 25,000
Al 12,500
o J| XtAHH] 20,000,000 * 100 2 20,000
= 20,000
CIENSSAIY ZXIHI(S&s) X2 120,000 0 120,000
= 100,000
Al 20,000
403 AXIEHMSAH=0ld 120,000 0 120,000




SH: =xoEMY
ZH: 01S=R ST(MESX/FHSANSKH)
ool OIS =XIMEIA X (el mg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 100,000
Al 20,000
01 A2 2L 120,000 0 120,000
OUENSS A (EXIHl) XI& 120,000
oclZE&gH| 80,000,000& 80,000
= 60,000
Al 20,000
o JI XHAH] 40,000,000 40,000
[ 40,000
A0S HE 21| X2 3,914,000 0 3,914,000
[ 1,957,000
Al 1,957,000
308 AFRIEHMSOIE 3,914,000 0 3,914,000
[ 1,957,000
Al 1,957,000
01 RSN EES 3,914,000 0 3,914,000
OXSotsHIE el4d] X
3,914,000,000& 3,914,000
= 1,957,000
Al 1,957,000
NEotsHE 23H N2 964,000 3,948,240 A\2,984,240
[ 482,000
Al 482,000
308 AtXIEHMSOIE 964,000 3,948,240 A2,984,240
[ 482,000
Al 482,000
01 RSN B EES 964,000 3,948,240 A2,984,240
OXSotSHE 2gH| X2
964,000,000 964,000
= 482,000
Al 482,000
Sd8 Notsut FIHIE 150,240 139,200 11,040
[ 75,120
Al 75,120
308 AFXIEMSOIE 150,240 139,200 11,040
[ 75,120
Al 75,120
01 RSN B EES 150,240 139,200 11,040
OS+==8d NY0sdH I
104,160,000 104,160
s 52,080
Al 52,080
OER2Y XF0tsHE =
46,080,000 46,080




P

S =X
M OlS=X SE(MIEX/FHLHEXA)
cel: Ol S=XIABIA X (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 23,040
Al 23,040
K0S HE eZHe X2 60,000 82,500 A22,500
= 40,000
Al 20,000
403 MR HSAHE01H 60,000 82,500 122,500
[ 40,000
Al 20,000
01 AXISHA=2E2 X 60,000 82,500 22,500
OXSotsHE S2Hd X
60,000,000 60,000
= 40,000
Al 20,000
XS 0otsHE AHIXIZ 184,020 184,020
308 AHAIEMSOIH 184,020 184,020
01 XN BSELS 184,020 184,020
OXgotsHe =208 N
2,000,000 57 IH 2=%50f% 57,000
OXIS0otsSHE! BALL =
130,000 119 * 123 x50% 92,820
02323 N
100,000 %574 2=+ 122 *50% 34,200
NE0tsHEH AEX2Y 29 90,400 90,400 0
= 27,082
Al 63,318
307 @120l & 90,400 90,400 0
[ 27,082
Al 63,318
05 2IR”IRIE = 90,400 90,400 0
OXISotSHE AT 24
90,400,000 90,400
= 27,082
Al 63,318
Ols=X WAL IHA XI& 1,000,214 973,216 26,998
= 500,107
Al 500,107
308 AtAIEHMSOIE 1,000,214 973,216 26,998
= 500,107
Al 500, 107
01 AXEH B EES 1,000,214 973,216 26,998
OO0ts=XI WAL THA K&
1,000,214,000& 1,000,214
= 500,107
Al 500,107




2A:

X101 PH D}

M OlS=X SE(MIEX/FHLHEXA)
cel: Ol S=XIABIA X (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZoARD 12 29 303,408 289,841 13,567
307 elztol & 303,408 289,841 13,567
10 Al SXAIEEHE 22X 303,408 289,841 13,567
OZ A2 2 295,728
0 21AH| 245,728,000 245,728
o =34l 50,000,000 50,000
OBAR =& 7,680
o BEFIIHI 4,800,000 4,800
o AtA=E 2,880,000& 2,880
IHEEXNEHEH =2 375,55 367,435 8,121
307 @120l & 375,556 367,435 8,121
05 glt?(& = 340,556 0 340,556
O8N dH 29 340,556
o I24H| 264,163,000 264,163
o2l 33,313,000& 33,313
oM=< 43,080,000& 43,080
11 AMISXAIEEX 35,000 36,000 0
OSSN EHEH SIAS 35,000
o IS AL 30,000,000 30,000
0JIERE 3 MRI| A
5,000,000& 5,000
AEAEIHE 2 OHERIE0ls 25 1,444,918 1,237,930 206,988
308 AXIHS0IA 1,444,918 1,237,930 206,988
01 HAHHBSEEXS 1,444,918 1,237,930 206,988
AEAHINE Y JIERIEOIS 25 1,444,918
o¥=sExS XA 1,123,668,000& 1,123,668
o3 24 8,610,000& 8,610
oSt 24| 110,640,000 110,640
022EE0ts NEEAS
136,500,000 136,500
otHErdsi0ls StIXIE
45,500,000 45,500
o0lSE3 &bl 20,000,000 20,000
HEIHE RIS d20ts23H N2 132,000 0 132,000
= 92,400
Al 39,600
308 AHAIEMSOIE 132,000 0 132,000
= 92,400
Al 39,600
01 X SHHEAEXS 132,000 0 132,000
Od20tsE =l 132,000,000 132,000
= 92,400
Al 39,600




q

SH: =XelIREM Y
M OSSR ST (MEISX/HLHEXR)
ol OlS=XIAHIA XY (ctol: &
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
IHERIE0ts doi28zE X2 17,261 17,261 0
= 12,083
Al 5,178
307 212t01™ 17,261 17,261 0
= 12,083
Al 5,178
06 2= 17,261 17,261 0
OJI8?E0ts doi2gz K&
17,261,000 17,261
= 12,083
Al 5,178
2 - JIEEOts AelXIEXE 26,180 16,830 9,350
= 21,560
Al 4,620
308 AHAIEMSOIH 26,180 16,830 9,350
= 21,560
Al 4,620
01 HAHHBSEEXS 26,180 16,830 9,350
O - JIERIEOIs AelXIZXZ
26,180,000& 26,180
= 21,560
Al 4,620
A0S IHERIA 617,243 529,355 87,888
Il 432,069
Al 185,174
308 AtXIEMSOIH 617,243 514,35 102,888
Il 432,069
Al 185,174
01 HRHHBSEELS 617,243 514,355 102,888
OZlots 2=s=2E2= & 2AZHl X
47,943,000 47,943
Jl 33,560
Al 14,383
ogtlE X 23,786,000 23,786
Jl 16,649
Al 7,137
Ooggots gds+g XN&
523,200,000 523,200
Il 366,240
Al 156,960
oY=t LXK 6,314,000& 6,314
Il 4,420
Al 1,894
oYYy =ol= A& 16,000,000 16,000




2A:
X XH -
o e

=aak

=701 =}
OISR B (MBS X /HAHSKI)
OIS=XIMHIA X

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 11,200
Al 4,800
2Ataiots 220l A& 60,000 0 60,000
= 42,000
Al 18,000
308 AHAIEMSOIE 60,000 0 60,000
= 42,000
Al 18,000
01 HAHHBSEXRS 60,000 0 60,000
ALOISHA B5H| N
60,000,000 60,000
= 42,000
Al 18,000
FAHES OlSSEAHIA XIS 1,527,084 1,543,032 15,948
= 1,357,408
Al 169,676
308 AXIMSO0IA 1,527,084 1,543,032 15,948
= 1,357,408
Al 169,676
01 X HHNBAEXS 1,527,084 1,543,032 15,948
OFSAHE OtsSEAEIA K&
1,527,084,000& 1,527,084
= 1,357,408
Al 169,676
Ol=sE2sdgRd 438,750 389,610 49,140
= 387,200
Al 51,550
101 @124H| 32,600 0 32,600
= 26,100
Al 6,500
02 JIEtAE = 32,600 0 32,600
OQIZHI(Al) 32,600,000& 32,600
= 26,100
Al 6,500
308 XtXIEMSO0IE 406,150 389,610 16,540
= 361,100
Al 45,050
01 HRSHH B EES 406,150 389,610 16,540
OelAbI(7=) 352,150,000& 362,150
= 313,100
Al 39,080
OAtZHI 54,000,000 54,000
= 48,000




2A:
X XH -
o e

=aak

=701 =}
OISR B (MBS X /HAHSKI)
OIS=XIMHIA X

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 6,000
(:=1=g= NEE WS 1,309,237 1,345,587 A\36,350
= 916,466
Al 392,771
308 XtXIEMSO0IH 1,309,237 1,345,587 A36,350
= 916,466
Al 392,771
01 XN BSELES 1,309,237 1,345,587 /36,350
OotsE XA X
1,309,237,000& 1,309,237
= 916,466
Al 392,771
orsa4a XN 4,790,130 3,587,486 1,202,644
308 AtXIEHMSOIE 4,790,130 3,587,486 1,202,644
01 XN B EES 4,790,130 3,587,486 1,202,644
OotsaAl N 4,790, 130,000 4,790,130
ots NeE=g X 613,440 439,200 174,240
= 545,280
Al 68,160
308 AHXIEMSOIH 613,440 439,200 174,240
= 545,280
Al 68,160
01 HXHHBAEES 613,440 439,200 174,240
OO0ts Xteg=g X& 613,440,000& 613,440
= 545,280
Al 68,160
e ots AHE X2 7,600 7,600 0
= 5,320
Al 2,280
308 XXM SOIA 7,600 7,600 0
= 5,320
Al 2,280
01 HXEHH B EES 7,600 7,600 0
OZAHotE AHEAA 7,600,000& 7,600
= 5,320
Al 2,280
oS¢ A& 67,324,500 72,461,412 A5,136,912
= 57,731,988
Al 9,592,512
308 AtXIEHMSOIE 67,324,500 72,461,412 A5,136,912
= 57,731,988
Al 9,592,512
01 XN B2 LS 67,324,500 72,461,412 N\5,136,912




SA: =XQIPHMY
Hm: Ols=X SX(ASISX/FAHEX)

=22 OtESSXAHIA X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ooots+¢ A& 67,324,500
o0ls+¢ 20 67,324,500,000& 67,324,500
= 57,731,988
Al 9,592,512
&E otol=el 29 2,173,763 1,736,555 437,208
300 HES 1,829,011 1,666,555 162,456
01 SAL- SHEYTES 1,829,011 1,666,555 162,456
Ol&g ot0lsel 234l 1,829,011
o 24| 1,617,452,000& 1,617,452
o 2tE &3] 211,559,000& 211,559
404 SAHSHAZ2HES 344,752 70,000 274,752
01 SAk- SEHHEHES 344,752 70,000 274,752
OUZE Ot0Is2l AIEIHE S A
344,752,000 344,752
OlSES 23 AREX/HAHNSKIZ) 3,787,245 2,794,360 992,885
= 1,444,348
Al 2,342,897
ots2s X2 3,787,245 2,794,360 992,885
= 1,444,348
Al 2,342,897
OISES A 11,140 9,340 1,800
201 et 3| 5,640 5,640 0
01 At22t2l] 5,640 5,640 0
Oget=ZH] 2,500
oOtSsHNIge & RS HFI %
500,000 500
oOlSEUNY 2= M=
2,000,000 2,000
O=g=4g 1,700
oAl YA S A =&
100,000& x3& *42] 1,200
o OtSSIH0IEY MEWSF Ate E &I
500,000 500
O=gtl 1,440,000& 1,440
202 04| 1,700 1,700
01 =LHO LI 1,700 1,700
OZLH0iH] 800,000 800
OZ2| 04| 900,000 900
203 HE=AH] 2,000 2,000
03 A= PR F&IH| 2,000 2,000
O0tsEs FaJ|1& 2t53]
2,000,000 2,000
204 MR AH| 1,800 1,800
03 SEY =3I 1,800 1,800




2A:

B 01525 ASHAEISX/FHAHSKE)
el Ol s2EE XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Ootssttitis sy 1,800,000 1,800
olsEsESI|2 29 1,762,893 1,457,004 305,889
2 824,803
Al 938,090
307 212H01 1,762,893 1,457,004 305,889
2 824,803
Al 938,090
05 2I2tlEta 1,762,893 0 1,762,893
OnsEsmIR 2
1,649,606, 0002 1,649,606
2 824,803
Al 824,803
OOISE S| 2 21 24HI (AIHIZ)
113,287,0002 113,287
OIEESHSI|2 29 (AlH) 112,960 142,560 £29,600
307 212401 112,960 133,360 20,400
11 AR =TS E 112,960 70,000 42,960
OOISESHEI|B BAR+L
42,90,0002 42,960
OOISEBTEI|R A 70,000, 0002 70,000
HE MRIKIZME 29 151,870 149,500 2,370
2 75,985
Al 75,985
307 212H01 151,870 149,500 2,370
2 75,985
Al 75,935
NN NEEEEETEES 151,870 149,500 2,370
ONBARIXIBHE 2
151,870,0002 151,870
2 75,985
Al 75,985
OFSEITHRECI 2|2 S5 A 100,000 0 100,000
2 50,000
A 50,000
307 212H01 100,000 0 100,000
2 50,000
Al 50,000
VXIEIE NS 100,000 0 100,000
Oorssi Xl Bl 2 245t
100,000,002 100,000
2 50,000
Al 50,000
SHLISHOIS2E 2 1,114,756 918,216 196,530
2 474,360




2A:

M OlS2S LSHAMEIEX/FHLHEXA)
el Ol s2EE XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 640,39
308 AtXIEHMSOIE 1,114,755 918,216 196,539
2 474,360
Al 640,395
01 AXEH B EES 1,114,755 918,216 196,539
OsttiulciotsdE 29
1,114,755,0002 1,114,755
= 474,360
Al 640,39%
STl Ols& e 2 (AlHl) 37,800 30,240 7,560
308 AtXIEMSOIE 37,800 30,240 7,560
MAHHBLELS 37,800 30,240 7,560
OsttiulcHOtsa e SAtA =& 37,800
oMM +=& 23,400,000& 23,400
oAt 7,200,000 7,200
oORI2Z2xE 7,200,000 7,200
fOI0ts JHEES d20ts2SH| NI 22,500 45,000 A22,500
= 15,750
Al 6,750
308 AHAIEMSOIE 22,500 45,000 N22,500
= 16,750
Al 6,750
01 HAHHBSEXS 22,500 45,000 A22,500
OdE0tsE=H] K& 22,500,000 22,500
= 15,750
Al 6,750
fDI0ts JHEES MR0tsESH| XJ(AlH]) 15,000 0 15,000
308 XXM SOl 15,000 15,000
01 XN B2 LS 15,000 15,000
Od=20tsEsHl N 15,000,000 15,000
fPDIots JHEEs ots887¢Hl X 5,000 5,000 0
= 3,500
Al 1,500
308 AHAIEHMSOIE 5,000 5,000 0
= 3,500
Al 1,500
01 AX N B2 LS 5,000 5,000 0
OotsE=-2dl A& 5,000,000& 5,000
= 3,500
Al 1,500
OlsZAIESAIE 23 453,327 0 453,327
308 AXIHSOIA 453,327 453,327
01 XN B2 LS 453,327 453,327




S =SXIREHY
M OlS2S LSHAMEIEX/FHLHEXA)
el Ol s2EE XE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOISLAEEAE 2
453,327,000& 453,327
S ZHEEY N (MSXD|ZHSEH) 133,796,567 121,159,640 12,636,927
= 120,467,560
[ 1,071,036
Al 12,257,971
NASS JIzdg:2d 133,796,567 121,159,640 12,636,927
= 120,467,560
= 1,071,036
Al 12,257,971
A2 101,587,023 88,021,033 13,565,990
= 94,256,000
Al 7,331,023
308 XM SOIE 101,587,023 88,021,033 13,565,990
= 94,256,000
Al 7,331,023
01 AXEN B EES 101,587,023 88,021,033 13,565,990
OdA= 101,587,023,000& 101,587,023
= 94,256,000
Al 7,331,023
M= g= 118,735 97,640 21,09
308 AHAIEMSOIH 118,735 97,640 21,09
08 wEJ| 20 Het 2= 118,735 97,640 21,095
Ouss: 118,735,000 118,735
oiat M =0 691,934 622,955 68,979
= 642,000
Al 49,934
308 AFAIEHMSOIE 691,934 622,955 68,979
= 642,000
Al 49,934
01 AXEN B2 LS 691,934 622,955 68,979
Oofl &t HI= 0 691,934,000 691,934
= 642,000
Al 49,934
SEAtel2t2lA 1248 X 457,326 449,910 7,416
[ 304,884
Al 152,442
308 AFAIEHMSOIE 457,326 449,910 7,416
[ 304,884
Al 152,442
01 AXEN B EES 457,326 449,910 7,416
OSSAtIZCIAL 21244
457,326,000 457,326




2A:

X ZH -
o=

D ZHSEE X (AMSX /I ZHEEE)

BHel: NASS JIZMEEH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 304,884
Al 162,442
AZ7 SEAtel2tel K& 56,250 56,250 0
= 37,500
Al 18,750
308 AXIHSOIA 56,250 56,250 0
[ 37,500
Al 18,750
01 HAHHBSEXRS 56,250 56,250 0
O= - = SEAtdi2e X3
56,250,000 56,250
= 37,500
Al 18,750
SHS XEE SEAMHIA XH 469,930 399,840 70,090
= 387,000
Al 82,930
308 AXIMSO0IA 469,930 399,840 70,090
[ 387,000
Al 82,930
01 HAHHBHEERS 469,930 399,840 70,090
O0bte 2A=SXAHIA XIS
469,930,000 469,930
= 387,000
Al 82,930
OSAE O 171,680 170,240 1,440
308 AtXIEMSOIH 171,680 170,240 1,440
01 HRESHH B E2ES 171,680 170,240 1,440
ODEAI REHARRIAY X2
171,680,000& 171,680
USAE O & 2tel AIEA 208,000 0 208,000
= 130,000
Al 78,000
308 AHXIHMSO0IA 208,000 0 208,000
= 130,000
Al 78,000
01 XN BELES 208,000 0 208,000
OLSAH 0lle & 22| AIEAE
208,000,000& 208,000
= 130,000
Al 78,000
28=A 8,386,875 5,940,000 2,446,875
= 7,455,000
Al 931,875
308 AXIHMSO0IA 8,386,875 5,940,000 2,446,875




2A:

X XH -
o=

D ZHSEE X (AMSX /I ZHEEE)

o= T o

BHel: NASS JIZMEEH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 7,455,000
Al 931,875
01 XN B2 LS 8,386,875 5,940,000 2,446,875
O2E=A 8,386,875,000& 8,386,875
= 7,455,000
Al 931,875
NASE K& 350,000 350,000
308 AtXIEHMSOIE 350,000 350,000
01 HASHHBSEXS 350,000 350,000
Oosdtd 283X 350,000,000 360,000
MEXRH] XA 1,676,389 7,855,190 26,178,801
= 1,006,236
Al 670,153
308 XXM SOIA 1,676,389 7,855,190 26,178,801
= 1,006,236
Al 670,153
01 HRSHHBAEES 1,676,389 7,855,190 26,178,801
OMEXIAH] XIZ A 1,676,389,000& 1,676,389
= 1,006,236
Al 670,153
Gy XA 608,258 616,077 AT7,819
= 422,757
Al 185,501
307 212+01& 608,258 616,077 27,819
= 422,757
Al 185,501
10 Al SXAIEEHE2EHI2x 608,258 616,077 N7,819
OZ S XtgHE 238l & Atd|
603,938,000& 603,938
= 422,757
Al 181,181
OSSN 2HE SAHL A=
4,320,000 4,320
NS RHHE K2 1,807,733 1,731,694 76,039
= 1,443,262
Al 364,471
308 AtXIEMSOIH 1,807,733 1,731,694 76,039
= 1,443,262
Al 364,471
01 HAHHBAEES 1,807,733 1,731,694 76,039
OXNS A2 238l & Arl|
1,752,533,000& 1,752,533
= 1,443,262




2A:

X ZH -
o=

D ZHSEE X (AMSX /I ZHEEE)

o NASSE JzdEed (SH &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
Al 309,271
OXISREHE SAR MM =
36,000,000 36,000
OXNYXEHE SAL =
19,200,000 19,200
22 A Y 11,843,835 11,933,782 289,947
= 10,989,125
Al 854,710
308 AXIHMSO0I & 11,843,835 11,933,782 N\89,947
= 10,989,125
Al 854,710
01 HXSHHBANELRS 11,843,835 11,933,782 A89,947
OXr&tZ2 2 At 11,843,835,000& 11,843,835
= 10,989, 125
Al 854,710
KH&Atedl2el 26,103 0 26,103
s 21,4%
Al 4,607
308 RXIHMSOIH 26,103 0 26,103
s 21,4%
Al 4,607
01 XN BAELS 26,103 0 26,103
OXttAref 22| 26, 103,000& 26,103
s 21,4%
Al 4,607
22z HAEx23AH 4,446,822 1,892,279 2,554,543
= 4,123,180
Al 323,642
308 REXISHMSOIH 4,446,822 1,892,279 2,554,543
= 4,123,180
Al 323,642
01 IXSHHBAEES 4,446,822 1,892,279 2,554,543
O3WssE | N 41,904,000 41,904
= 38,880
Al 3,024
O3WNI=s& Il KA 132,696,000& 132,696
= 123,120
Al 9,576
ougrIssE XA 59,709,000 59,709
= 55,400
Al 4,309
Oy WISsE K& 43,866,000& 43,866
= 40,700




2A:

X ZH -
o=

D ZHSEE X (AMSX /I ZHEEE)

o NASSE JzdEed (SH &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
Al 3,166
OHEEM=AHZA KA 412,035,000 412,035
= 362,300
Al 29,735
OsIZM=AZ | K& 265,383,000 265,383
= 243,500
Al 21,888
Os|LH=HE I XA 372,868,000 372,868
= 345,960
Al 26,908
OFEUL M SHEH(XHAH2I016H) XI&
284,307,000& 284,307
= 263,790
Al 20,517
OFHAUWLMSH R (A=) KA
2,834,049,000& 2,834,049
= 2,629,530
Al 204,519
=00 NEXJAME 2 EtAr) 454,388 14,286 440,102
307 2I2+0l ™ 454,388 14,286 440,102
05 QIZtRES 384,100 0 384,100
OL=0l ANEXddH2SF
384, 100,000& 384,100
ARSI =XAIEE X 70,2838 14,286 56,002
OL=0l T2 XA (2EHH FEAIY)
14,286,000& 14,286
OL=0! XEXNJME 2 (ArY)
56,002,000& 56,002
Atedl2Ze] MR e (2SS 0Z2lA) 400,194 0 400,194
s 320,156
Al 80,038
101 eI t| 32,634 0 32,634
s 26,107
Al 6,527
03 SR (RIHL) 22X E = 32,634 0 32,634
O(Al) 2SS HZ2IAL Q14|
32,634,000& 32,634
s 26,107
Al 6,527
303 Za= 730 0 730
s 584
Al 146
02 dta3 730 0 730
O(Al) =230ZelA =
730,000 730




2A:

E M

D ZHSEE X (AMSX /I ZHEEE)

o= T o

He: MASES J|=dEed (SH9 H2)
SA - ZE - B2(30) - HRAS of v e HIDE2
= 584
Al 146
04 HSRESS 3,557 0 3,557
= 2,846
Al A
04 SRA(RIH )22 BEE=RES S 3,557 0 3,557
O(Al) ABS0iBRIN PHRREE S
3,557,000& 3,557
[ 2,846
Al [al
308 XX HMS0IA 363,273 0 363,273
s 290,619
Al 72,654
01 XN B2 LS 363,273 0 363,273
O(2,2) AZS0{2A2|AF 22|
363,273,000 363,273
[ 290,619
Al 72,654
S|z 02l AHAIE]) 12,032 0 12,032
101 e124d| 12,032 12,032
03 SR (FIH )22 U2+ 12,032 12,032
O(AZSH2RIAL SeIZ4HI(+=F)
12,032,000 12,032
HE2E SN2 N2 23,060 23,060
201 er2 3| 10,800 10,800
01 At2teltl 10,800 10,800
OO0t BASAAMHIA 2HEE
4,000,000 4,000
O =da2d & ==03X |KSA 2F
I R 1,800,000 1,800
OSXARXN S /21017 2= E2= Xl
= 5,000,000& 5,000
202 04t 2,260 2,260
01 =LHOHI 2,260 2,260
O2LHbI 1,130,000& 1,130
O/t 1,130,000& 1,130
307 212+01& 10,000 10,000
11 AMEISXAEEES 10,000 10,000
OXt&stote il 10,000,000 10,000
HH2LZH(SXARZ D) (OIEH/IIE) 256,832 235,323 21,509
el 2| 198,714 177,205 21,509
el E2d| 198,714 177,205 21,509
101 21AH| 198,714 177,205 21,509
01 2= 198,714 177,205 21,509




S =SXREHY
A HZYRAIH(SXAAZ ML) (DIEH/IIE)
=9 elmEet| (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=g 198,714
oZU2RFE 198,714
A2t 22+E
12,321 +32E*42A| 24+ 123 198,714
J1I=288l 58,118 58,118 0
JI=23Hl 58,118 58,118 0
201 2egh=3| 29,568 29,568 0
01 At22t2lt] 29,568 29,568 0
OJlEZ A2l 6,960,000& 6,960
O=EH| 19,488,000& 19,488
O=AD| gits 3,120,000& 3,120
202 04| 6,950 6,950
01 =LHOHI 6,950 6,950
OZ L0 3,430,000 3,430
o220l 3,520,000 3,520
203 HR=AH] 10,200 10,200
01 D[22 HRFa| 5,400 5,400
(OPJEC pepehes Eotarlal 5,400,000& 5,400
MU A2 LRSI 4,800 4,800 0
SFA2EHIFLI 4,800,000& 4,800
204 MR AH| 11,400 11,400
01 MG A=A AHH| 11,400 11,400
O=NE=& 7,200,000 7,200
O8I 4,200,000 4,200
WS (SXAFHEHD) (ARSI =M LE) 41,804,852 34,248,182 7,556,670
LIS HHXIE 41,804,852 34,248,182 7,556,670
S HHRIE 41,804,852 34,248,182 7,556,670
701 JIEtl HSHES 41,804,852 34,248,182 7,556,670
01 JIEII AN ES 40,009, 184 32,512,514 7,556,670
O2A=2=80II=SE3 A
40,069, 184,000 40,069, 184
02 2IIHEEIHINEES 1,735,668 1,735,668 0
OCHA JH & - Stz ZHIH
1,735,668,000& 1,735,668




